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QID : 601 - Which among these is a trait of adolescence?
NgOR FrIQ 60T 6@6EINN IR gEl 266 ?
Options:

1) acquisition of fine motor skills

QPO 606110, QVGIFHR g8

2) improvement of hand-eye coordination
2g-0f A6dIcl Q Qg0

3) rapid physical growth

Q0 sIee Q&

4) attainment of new motor skills

Q00 60610, AVGIGER IR

Correct Answer: 3) rapid physical growth
Qo sIqe 9F

Candidate Answer: 3) rapid physical growth

Techofworld.In

QID : 602 - The hallmark of which stage is the 'search for identity'?

aGeq, 66lRl 6a4l 6Q1AIRE 65 2166 ?
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Options:

1) Adolescence

6@661IQ

2) Infancy

eélsQegl

3) Pre-adolescence
JR-6a661QUQg)|

4) Pre-school childhood
JIR-9041RL, 66l61@

Correct Answer: 1) Adolescence
6@66IQ

Candidate Answer: 4) Pre-school childhood
JIR-0e4IRa 66l61Q

QID : 603 - Which one of these change does NOT occur during adolescence?

GOR FRIQ 68Q AAQER 6F6SIRIRYIER 62RM2IN ?

- Techofworld.

1) Change in body shape
QR RIA6R ARG

2) Increase in height
QEo! Q&

3) Voice change

ga ateen

4) growth of motor skills
606110, @VOIGRR Q8

Correct Answer: 4) growth of motor skills
6Q610, QAGIGPR Q8

Candidate Answer: 3) Voice change
qQ aQear

QID : 604 - The changes which occur at adolescence are controlled by:

6F66119Z16Q 62Q2Ql IARERYPR FIRIPIRI PAFE 6aIRaIg ?
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Options:

1) hormones
LAEHIR

2) culture
ge

3) environment
ateesl

4) heredity
Q°Glpa¢l

Correct Answer: 1) hormones
LEleFIed

Candidate Answer: 4) heredity

Techofworld.In

QID : 605 - Which gland in adolescents secretes growth hormone?

6R6EINIRYI6R 606 IF 98 @a6AIR ARS @R2IN ?
Options:

1) Thyroid gland
2RIe Y

2) Adrenals
dieeeIimd

3) Pituitary gland
dgeeil gg

4) Pineal

deaIR

Correct Answer: 3) Pituitary gland
dgaeion g

Candidate Answer: 2) Adrenals
26@RImd

QID : 606 - Needs that are associated with socio-cultural environment of an individual are called:

R66 AR ANIFF-ALYER ARERE AR AMTO 2QREIROIGRY Rl RIKIN ?
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Options:

1) Primary needs
gliafi@ 2Q84e0Igee
2) Secondary needs
9010 A10EHRIgER
3) Tertiary needs
QOIS ARERIGHR
4) Physiological needs
SRR 2QEIRRIgEe

Correct Answer: 2) Secondary needs
9010Q 2IR84eIgee

Candidate Answer: 4) Physiological needs

- Techofworld.Ii

QID : 607 - Secondary needs are acquired through:

90109 2RGIRTIgEe RIRIQIQI QA 6LIR2IN ?
Options:

1) gratification
Q6QIN

2) reflex

goed

3) social learning
arRe &l

4) existence
ale

Correct Answer: 3) social learning
AR &1

Candidate Answer: 3) social learning
QAR 5l

QID : 608 - One of the important socio-psychological needs of an adolescent is:

@661 66IQ oY AFIRS-ARYPR ZIQEIRT! Q6 266 ?
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Options:

1) rest and sleep

Q6161 B B!

2) water and food

@@ G ¢l

3) latest mobile phone

el 6FlIQIRMm 610

4) freedom and independence
4RO 9Q° RN

Correct Answer: 4) freedom and independence
gRe0I I&° gRIAG!

Candidate Answer: 1) rest and sleep

"Techofworld.In

QID : 609 - Which problems are associated with adolescence?

1. Adjustment difficulties with parents

2. Adjustment difficulties with school discipline
3. Toilet training

4. Adjustment difficulties with community

5. Hand-eye coordination

696 AAAIGER 6R66IQ19gI A2 AMFE ?

1. JOIFIGIE AAIEIRAEQ 2@

2. YQYRL, PACI6R AFIELIRRER 2@
3. dIRSIRI g&iasl

4. 661g1 A2 AAICAIRRER 2GR

5. 2g-0f Hage

Options:

1) All 1 to 5 are correct
1Q5a9 0]

2) Only 1, 2 and 3 are correct
6997 1,2 630

3) Only 2, 4 and 5 are correct
60em 2,4 3850Q

4) Only 1, 2 and 4 are correct
60eR 1,2640Q

Correct Answer: 4) Only 1,2 and 4 are correct
0@ 1,264 09

Candidate Answer: 4) Only 1,2 and 4 are correct
60 1,2 3840
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QID : 610 - Which one of the following correctly explains how the knowledge of a child's heredity and
environment helps a teacher?

AR P66l 5iga @°619R¢ B AREREA IR FARG AIPITY R6Q, 64 AMH6R HEY 6266 A0 ARER FERI F6Q ?
Options:

1) know the varying needs and abilities of the children

8igq R 21Q6iee! G Q! RIEQ!

2) know how much the students’ parents can spend on his/her higher education
§ga 2R0ee fga Aedal ARl 6260 616 @RdIRER RIER!

3) predict the level of success the said student can achieve

@66 JMl 6860 ATRO! AR FAUIRALR G121 AQAIR *QQ!

4) speculate the extent of donation expected from the parents

JOIAIGI 6R60 QIR 6RRUIRER PIQI 2QAIR @A

Correct Answer: 1) know the varying needs and abilities of the children
§iga QR 21Q6RG! G QYOI RIEQ!

Candidate Answer: 3) predict the level of success the said student can achieve
@661 TR 6060 ATHE! QAN QAR V121 QIR *AQ

Techofworld.In

QID:611- develops both academic and social skills in learner in an integrated manner.

Q19 6065 2APe QIR6R 8RIZh 0l6a A, 6518S G AR CALIGERR RIS @RRIN ?
Options:

1) Problem solving approach
aaQyl aeRIe AR%

2) Collaborative learning approach
aeedIcl didl Q8%

3) Experiential learning

QRO 2RIAG S

4) Inquiry approach

AQARIR ARG

Correct Answer: 2) Collaborative learning approach
aeedIen &’ Q8%

Candidate Answer: 1) Problem solving approach
QAAQY QARIR ARG
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QID : 612 - Which one of the following is defined as 'graphical tools for organising and representing
knowledge about certain concepts'?

e HEY A6 HIRg A°6106 @Al 6 Jo8ie AR 6668 QUFREIFRR’ AFY FUQ 6R60E YR QIR QR
RQUAN ?

Options:

1) Concept map

@, g

2) Curriculum

AIOYRE!

3) Diagnostic assessment
6RQI0R R

4) Prognostic assessment
QEAYIGeR IR

Correct Answer: 1) Concept map
QL A4Ig

Candidate Answer: 1) Concept map

Techofworld.In

QID : 613 - Which one of the following is a tool for developing written communications in learners?

A9g AU 6866 RIENAIRE AIER MEE 6IGlIEAIG! 6Rl6IR FREE FARIR IR ARIF 266 ?

Options:

1) debate

oe

2) discussion

][]

3) poster making

6aIgQ Aelal

4) school assembly programme
QYR a8l @Idiga

Correct Answer: 3) poster making
6aIga Acila

Candidate Answer: 2) discussion
][]
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QID : 614 - What is the best approach that a teacher can adopt to include differently-abled students
(with physical challenges) in the classroom learning process?

AR 81 gFalea BQar |19 (AIGa1e 2gau 2Q)g AR ARIRRI AIel 6260 Jaea Al 990IQ am A%
?

Options:

1) use relevant assistive and adaptive devices
QALY QIR G 2AQ9R J9gPRa 1R @RQ!

2) verbally motivate them to participate

2PEIg06 @QQ! AR 6QFINE @2l @ AREIRE A9

3) show them visual content to enrich their learning
62A1PGA E8Ig QRS AAQI AIR 59 6a6iQ

4) use a tablet computer to show concepts
QUAGPR FEIAQI Ale CIQERE @EIER 1RLIQ AaQ

Correct Answer: 1) use relevant assistive and adaptive devices
QALY ALIS G 2PeR JPEPRR Q19210 KA

Candidate Answer: 3) show them visual content to enrich their learning
6AC1PGQ 88Ig Ape @RI Ak 58 6a6ig

Techofworld.In

QID : 615 - Which tool should a teacher use for inclusion of visually-impaired students in his class?

A 6g6116a 2Jel QEaRIe TRIFIREQ AgHcad At §A6 606 AUFAE Q102IA *ERI AFQ ?
Options:

1) hearing aids

€98 QURAEGHR

2) adapted science kits
QARG M BeQ

3) Braille equipments
691 RULPAEIER

4) multimedia kits
ARAGa @eq

Correct Answer: 3) Braille equipments
69M1 QUSAEIYLS

Candidate Answer: 3) Braille equipments
69m1 QURAEIGER

QID : 616 - Peer tutoring is a strategy used to help students with difficulty.

626l QRIE TRIFIRG AIRIAY SAQI AR 98 QAL 6268 dIFAIRE Q6 HRIgRE ?
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Options:

1) writing
@eie

2) reading
aog

3) speaking
@ee

4) hearing
glél

Correct Answer: 2) reading
aoe

Candidate Answer: 4) hearing

" Techofworld.In

QID : 617 - Which one of the following tools should a teacher use to help a student experiencing
difficulty in hearing?

626l QG SRIENAIRG ALY @RR! AR A AP FUQ AR ATRAEIFLR HOLIR FELI AR ?
Options:

1) pre- and post-reading drills
Je B dQ JEQI 0RLIGgeR

2) spelling and grammar check
QRIP B QRS AIF

3) audio books

PG Quegee

4) visual cues and maps
QIR @4 G AIRTRYPe

Correct Answer: 4) visual cues and maps
QIR Q4 G AIRFRRe

Candidate Answer: 4) visual cues and maps
QgdIm Q4 G AIRERYeR

QID : 618 - When learning is meaning making, who is the meaning maker?

6060626m GGl 22 RlERIRT @, 6960606m 218 RElEREl @ ?
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Options:

1) Teacher
fae

2) School
Rlall[=]5}

3) Student
o)

4) Parent
aolae!

Correct Answer: 3) Student
QI

Candidate Answer: 4) Parent

Techofworld.In

QID : 619 - Who gave the four-stage cyclical theory of experiential learning?
2GROINRe S8 ARl Ay &9 0 6QIAIR J8g deIg 6ongjem ?
Options:

1) Ivan Pavlov
AR ALEMIR
2) John Dewey
@R iR

3) David A. Kolb
60QQ 1. 6RIQ
4) Kurt Levin
@6 6MER

Correct Answer: 3) David A. Kolb
60WQ 9. 62IR

Candidate Answer: 3) David A. Kolb
60WQ 9. 68IR

QID : 620 - In the context of operant conditioning, a favourable event or outcome that is given to the
individual after the desired behaviour is called:

FUGE 2PPRR 68R6R, 2SI FAIIALQI R1ARIQ A6a TRIG D2ARER! IR AITY QI AREIAG Q& QRIAN
?
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Options:

1) Negative punishment
AR QgRIe

2) Positive reinforcer
JRIIR QL1RRE

3) Positive punishment
LR Qg

4) Negative reinforcer
QLQI9e QRINR8

Correct Answer: 2) Positive reinforcer
JRI9R Q198!

Candidate Answer: 2) Positive reinforcer

- Techofworld.In

QID : 621 - Who gave the term ‘domain-referenced test'?

JOQ6RR-gIAGPe ARl @G @\ QYRRIQ @A2jem ?
Options:

1) Hively and Millman
dasm G ARmAMIQ

2) N.E. Gronlund

NR. & 6lmE)

3) Cronback
6QI0QYIR

4) C.E. Beeby

g @ 9@

Correct Answer: 1) Hively and Millman
QM B FRAMIQ

Candidate Answer: 1) Hively and Millman
2Qem G ARAYIQ

QID : 622 - Who said that 'the greatest service evaluation can perform is to identify aspects of the
course where education is desirable'?

& @@2j6m 641 '6AG0I6A EI AISISAIAN, 6d0I6R QRAF 6aQ! ARYIAR S/IQ QF6RIE FIFQ! dinl @RIIIRAIRS'
2
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Options:

1) N.E. Gronlund

\Q. Q. 6510ME,

2) Hively and Millman
a6m G AmeMIQ

3) Cronback

6RIRRYIR

4) Glasar

qlaiQ

Correct Answer: 3) Cronback
621PQYIR

Candidate Answer: 4) Glasar

" Techofworld.In

QID : 623 - Benjamin S. Bloom classified domains of human learning into parts.

6QBIAR 1Q. @7 AINTR NI AAARY 6REC QIGIER IRg ARG ?
Options:

1) two
oa

2) three
o0

3) four
oIa

4) five
arg

Correct Answer: 2) three
o0

Candidate Answer: 1) two

ga

QID : 624 - What is Phantom curriculum?

TIEF A0 @& 266" ?
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Options:

1) the curriculum that which is written as part of formal instruction of schooling experiences

60 AIOYRE AP, AAROIA 6RIRR FORIA 2°6l AIQEE ERSIIAIRAIN

2) the curriculum that is implied by the very structure and nature of schools, much of what revolves
around daily or established routines

606 Q049 FRYIRAA A°QeR! B 796 BAIRER QITYRIRT 6RIR2IN, Q9! 63RhR Q 2egIde AIeAgE
2196 Q62

3) that part of the curriculum which is not taught in schools

AOIFAR 6AE 2°6 FIRAGERER AN QI

4) the enculturation of students into the predominant meta-culture

dMAIRG QIR 6FCIRMOR b °YORRE AN

Correct Answer: 4) the enculturation of students into the predominant meta-culture
JNAING QIP EACIRRQ IT AL aed

Candidate Answer: 2) the curriculum that is implied by the very structure and nature of schools,
much of what revolves around daily or established routines
6116l A0YPF FIRAR AR 8 geb BaIeea AINIRINN 621R2IN, QI 6300 9 29gIde @Idigrgee

Techofworld.In

QID : 625 - According to the Indian School Curriculum, what is the age for vocational apprenticeship
curriculum?

QIRO10, YRS, A0YF BUI96R, 696 @ULER QIR &gl B2Ide ?
Options:

1) 16+ to 18+
16+Q 18+
2) 12+ to 14+
12+ Q 14+
3) 16+ to 20+
16+ q 20+
4) 15+ to 18+
15+ Q 18+

Correct Answer: 4) 15+to0 18+
15+ g 18+

Candidate Answer: 3) 16+ to 20+
16+ q 20+

QID : 626 - In the determinants of a curriculum, the ideals stand for intellectual, moral, aesthetic and

dI0YAR IR PSS ARl QAYY 6268 6RIaR, 6769, 6dladieal] G |
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Options:

1) religious

AF@

2) basic needs
ARIQE AIQERVIGEe
3) goals

arlaela)

4) decision

fga

Correct Answer: 1) religious
AIFR

Candidate Answer: 1) religious

"~ Techofworld.In

QID : 627 - Which among the following assessments ‘compares a person’s knowledge or skills
against a predetermined standard, learning goal, performance level, or other clearly defined levels of
achievement or proficiency'?

Re1g 606l gRIQQ JRYILAER 'R66l @1RQ RIR G 2AGIQ Y@ QIRTIA0 AIRS, Sias MAY, Jade ga @l 4 a1e6a
R6EEI0 AR ATRS! Q1 418191 A2 QRRI K6 ?

Options:

1) Norm-referenced assessments
ARR-HEEEe JRIARGEe

2) Standardized assessments

AR RS AAYARYRR

3) Criterion-referenced assessments
ARR-ACe RILRTEe

4) Self-Reference

qReLEo

Correct Answer: 3) Criterion-referenced assessments
AIRR-AQ® RIS

Candidate Answer: 1) Norm-referenced assessments
ARe-F6EEe InIoegee

QID : 628 - Orientations to curriculum should be child-centered, society-centered, and

QA0YGAE RIeh 68919, AAIR 68918 G 626! QG ?
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Options:

1) knowledge-centered
HO 60

2) play -centered

66IR 68519

3) home- centered

da 62918

4) peer- centered

QR Q1R

Correct Answer: 1) knowledge-centered
f]le 6091@

Candidate Answer: 1) knowledge-centered

- Techofworld.In

QID : 629 - Which among the following is NOT a common philosophical orientation to curriculum?
R0g 6966 AI0YPAR 9@ ARIQE QEIRe Rade g6eg ?
Options:

1) Idealism
Q6@

2) Realism
QY@

3) Perennialism
61§l

4) Objectivism
Qe

Correct Answer: 4) Objectivism
QERSHIY

Candidate Answer: 3) Perennialism
Qg

QID : 630 - Which one of the following schools calls for the elimination of a standardized curriculum,
and instead promotes using curricula customized to the students' prior knowledge?

209 66 YR @ FIee A0Y9AR Q1P 69RAIN, G 2| AeR6R JAIFIPE dIGER Zidq 2l §IP 2AQER
dIOYRe 4eLIQ *ERIQ 67IQIREC @GN ?
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Options:

1) Constructivism
QORI

2) Cognitivism
A°"RQAVQ

3) Behaviourism
2@

4) Gestalt

6eYR

Correct Answer: 1) Constructivism
QORIEI1L,

Candidate Answer: 3) Behaviourism

Techofworld.In

QID : 631 - §igiQIa 676 FAUARYER “F1EITGRP 696 FARI e ARIQE AR° gIal 6216 ARGEAREI 66§LR
QBQl" Aifim 2187

Options:

1) 6QI6160R

2) \Ialg 621R

3) géiel

4) IR 69R gaeal

Correct Answer: 4) P 60R §&iQI

Candidate Answer: 4) IR 60Q §6QI

QID : 632 - caleR 6015 dnig Fa0Rge AMg Q6a 9RaI Ye° 661 PYdea AeBrieq QIR @RRIN|
Options:

1) géiel

2) aQel

3) 6meQl

4) 98!

Correct Answer: 2) @<l

Candidate Answer: 3) 6me<!
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QID : 633 - HEMGE ARIGER AUQ FRET 6615~ 2Q4IC B2IR @Q@! (habit formation) @16 IR A0S 21662
Options:

1) “0QQI AA6Q QI REE @6d 6615 2RI G2IR @@Q! (habit formation) 9@l 266, 921 62@R 661G~
Rl 606 AAKER 2I6F1 921 AQHIA go g @EIQ”

2) “aQIRel FEe Q6d 66IGN ZRIa B2IQ @8QI (habit formation) 9G4l 266, 121 62Q& 6616~ gaLY 60E
AAER 2l6e1 Q2 AR g6 dIg @RaIR”

3) "88Q1 RER Q6U 6lIGN 2RI B2IR @Q9! (habit formation) IR 2166, 121 6208 6616~ 9@ 686!
QAKER 2l6F1 Q2 ARYIQ g6 JIg @tI]”

4) “Qal HE6 Q6Q 6615 2Q1IA B2 @8I (habit formation) G4 2166, \Y2I 628 6615 R 6AQ
QAAKER 2i6F Q2 2Q4IA gEg dIg fRaIQ

Correct Answer: 4) “QI8I g0 Q60 661N 2Q4IQ G218 @< (habit formation) 9§l 2166, 921 620&
661N @Al 606 AAAER 26 Q2 2HIA gog 9] RE2IR

Candidate Answer: 1) “0QQ| QA6 @EQI HEE Q6Q 661N 2AQ4IA H2IR @8R! (habit formation) 9@l
266, 921 6208 66115~ QR4 696 AANER 2IsF Q2 2AQ4Ia §0g AIg fRaIR”

Techofworld.In

QID : 634 - QI 0L RAR| AALER FIDE OGO RN ARSI 2IREHR?
Options:

1) 81 AR 92! gRURER 9Q 265

2) §81 AR 92! A90IQ JQEll IR 263

3) 92| §RI gIPQ IR 2rEl Q6|

4) 3041e16R 92| QIR QAT F9F FIB)

Correct Answer: 1) &QI diol 991 gRURER \IQ A6G|

Candidate Answer: 1) &8I QIR 92| AU IQ 26T

QID : 635 - 6°4! JRIAR EAEHIER QLRI RETIS, AAG G Ggy AR 28?
Options:

1) CIBTQ QURG*

2) 9QEAIRERIRN AURG®

3) PIEQ QURG®

4) REMIRER ARG

Correct Answer: 2) I@6Qi@6619 QIQG*

Candidate Answer: 3) @GQ QURG®
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QID : 636 - D7 FrIQ 6ael Fag O] 2662 @ FQA1 REAREQ FRQ 26F)|

Options:

1) 820dR, IRIRAEAE

2) 2J¢), 6F1I6RIG)IET

3) @RERIR, RE/TESE]

4) NQ6UIRER, AdNER

Correct Answer: 4) IQEQIR6IR, ALIEQ

Candidate Answer: 4) IQ6QIR6IR, AIEQ

QID : 637 - 9G-AT-RRAGR 66Q AREO AUQ 674 Q6REY AR 19R FQIAIRAN?

Techofworld.In

1) 2IRINIRG TRRYQ 601 AR

2) 2@ 0YenEe G 2YPe AIdY @8el AR F1ghfIeg QIBe REQ!
3) 66l@° FARI AEREYER MIRLIQ QR

4) Qaeqq aag

Correct Answer: 4) QJeQIQ 9A4

Candidate Answer: 1) QIRIFIRG FRYIQ 621 Al

QID : 638 - 65611 Q)@ 2leA6C1E] AR ARINEOS AR FAREE FNQ 6aR IQERERIR Qjé_!,lé IR KQG?
Options:

1) @686 Y&

2) aaIg Qee

3) RI6eAQ YeIs

4) Q9L (9666 FIEIS) 6 (AFAIQ Q&)

Correct Answer: 4) QK. (666 AEYE) 8 (AFAIg YaIS)

Candidate Answer: 3) QI60fq Q&e

QID : 639 - RRGE FIQ 674 YT Q19218 8Q AREIRE ERIRR 60ITFANGIP §96 FARI 6ACRI6R
IGERER, FIYR 621R2YR F6E6] YEIE 2GR FEa?
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Options:

1) 9RI66ER qaIe
2) Q666 Y

3) adeIp Yaue

4) NGEREIRIR YIS

Correct Answer: 3) adelg geie

Candidate Answer: 1) 9QI600Q Q&d

QID : 640 - Q644 YT AR FARIR QGRS @'E1?

o Techofworld.In

1) 921 P6AQ ! 6al6IRG Q4RI AARI Il @1RLIQ AN, QIR FRIEAIER F6ig 69IM NPERCRANTA AR eI
I

2) ¥9IQ Q19RIQ A4 2IQEIRC! 6RARA 6QIFTTIQIG 096 FASI 6ALRIEA PR, FAIFQ 6RIRAIQI P66l FIEIS
21Q64@ K6a

3) 660 AAAIR RERIP A7l 66IEN QIREERA-EATERG FRIAINYQI A6AEAE] 26TIQQ, 98 FRIQ 6866
Jo6 @Q6e, 0191 AFIRS @8l diell

4) 000 (Y21 F6nR @l 6alRg Q4R AERI Al @1RRIQ FAIAN, QI FRIZIFIER Seig 6AIM IRERERAINFR
R 2N 1) 6 (YRIg 91921 @7 2I961RG! MIRQ 60PN 09 @RQ! 6066x IgERTR, FIYR 621R
@666 YGIE 2IQEIR @6a1)

Correct Answer: 1) 121 Q6RQ QI 6RI6IRG QIR QI AIEl VIALIQ FAIAN, IRI FRYIAIER Sisig 6QIR
NQERCQAINEE @2l 2N |

Candidate Answer: 2) \I2/@ Q4Q2IQ @3 2G| 6RIRA 6ATEIRIQ 096 FAR 6ALLIER IGERTT,
FIYR 621RCIR1 P66 WEIS 2REHR F6R

QID : 641 - JQQ QX460 6RE IRIQ AQ IRQE JAEI0? QAT 6RAR ‘62l 6QI6r° Jare .
Options:

1) QR AR JRQE

2) 6Ql6ie 0 geQE!

3) RER A0 9RAE

4) cJl6e- PR JQ gRas

Correct Answer: 1) 4@ 4@ daQél

Candidate Answer: 3) 0@ Q0 JRQ8!
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QID : 642 - 63QIQF S1R6Q 66 AT @ (TF6AR) YQ° 625 QR (9€)?
Options:

1) sea- ¢, ward-2Io®

2) sea-2Ie®, ward-¢)@

3) se-(]@, award-2Ie®

4) se-29®, award-¢@

Correct Answer: 1) sea- g, ward-2Ie®

Candidate Answer: 1) sea- g, ward-2I0®

Techofworld.In

QID : 643 - JgJQ6Q JQI 6MPRR PIMEE AUQ 6R6 QFRI 28 @QRIN?
Options:

1) 92| QIRY6Q QUY] FEMIEREGER 6aIGalN|

2) 92 QIRYeQ gl FIAITRIR AREQQ ASIs @telN|

3) 666N QVIQ LI IR SIRERIY A7l 6RAIRIQRINT 263

4) QJeQIg 9Ag|

Correct Answer: 4) QJ6QIg QA4

Candidate Answer: 4) QA6eQIg QA9

QID : 644 - 661l QA6 66115\ 6AIFITRY 2166, 664 6718 AII' O'A YAl ALl BIf AITER 6397 6 AR @R Q6 |
AOMEE FIQ 63K 619 YRR REEFE F6§TE IR 661GN § 21667

Options:

1) Qa6

2) 6QIIFINY
3) AR

4) 69QA

Correct Answer: 2) 6di¢]iFIgme

Candidate Answer: 2) 6QIgJF19RY

QID : 645 - TR1Q 67127 6ARIAGF Qe 6mell @12l AR aATe
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Options:

1) AAIES - Argee §o

2) 9o

3) *gRIae

4) QO QI QS

Correct Answer: 1) QlfRe - aArgoe §o

Candidate Answer: 2) 9o

QID : 646 - & Q0 @0 Q6L 64Ie?

Options:

Techofworld.In

2) F@1Q 67190 6ARIAG
3) GIEPRIA 67162Q!
4) 661l Q1QIel FIRI

Correct Answer: 3) GIGFRIQ 6¢162Q

Candidate Answer: 2) TR1Q 67120 69RI100

QID : 647 - P1REEIRQ QD! @I?
Options:

1) FR1Q 671K 6QRIAG

2) QRIKI QUL

3) Qe ¥Q GIEPRIQ 67162Q

4) 460 FIRIg

Correct Answer: 4) ¢J6QQ (1217

Candidate Answer: 4) 4609 (117

QID : 648 - gaifl AIREY QIR JAgIQ & AIR2JER, AR 621618 QITI B¢l QORI 66R16Q JRRER AIFSY QORI
iR F2AAIRSQ| A& JeIF gegia mI?

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:
1) GRFRIQ 67162Q
2) QRIFIZ QUL

3) coldRlel ARIg
4) Q1R 671IRR 64RIU0

Correct Answer: 3) 66lIQIRI2 A1QIF

Candidate Answer: 2) QI QUL

QID : 649 - J4® @Q0I, QPR QFIEF 6Q 0G0 JAF @617

orine Techofw

1) BE¢I RRAEERT QUER QY&P

2) difie @Iy 598 @6Q

3) 3561Q MRREERQ J6rAl R6Q

4) RI560 6RO

Correct Answer: 1) (26l R1QR66RT QAER Q46

Candidate Answer: 1) GG¢I @1RREER1 QAUEA Q4&P

QID : 650 - 60 FIRIPFR 6R6 QURYIA @8 el QAR 2RIAG?
Options:

1) QUIERE168 A

2) AFRR 2RI

3) PRIG 0L
4) P1R6EIR

Correct Answer: 2) 250aq dglay

Candidate Answer: 4) Q1RGSR
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QID : 651 - REREE QUicl QUER Fg| ARG 266 | QYOS ULR ARG AQY | AR AAUIR FRRIQI R66 JOR 9@
Q@ @9 6QIRIRER J6R4 AREM | 64 (0@ FRARINIR dIR eTE FARIR AV g6 T QI A1 6QIR
QUM IQ° QLG goIN AIFg REIQI AR QGRS QIQEEA | OIF QR LIRS ARFaR g Q me) e §Qg
JeIa §1R1 6Q6IRRIER RITER | FIQ 6AGPF AIQE QI6Q AIPFQ @ARI A6R, 6a A4 I SRICY CIREIER,
6Q60I6R QIQ 9ge NG 78 AQI AIRSIRI 19° Q6] 9619g FAIGY SINGIER | 6AFIRG IR, F6q0! ST
ARYIC, QA6 I622 @RI IR PR26M NQ° 6 JOPRE UIR Zieds @RZen | Jeoe olg 19IR6m @ 69
QIZQ6R R4 9IRIF, \9Q° 60 QAR 6A6M @ 6d BRI UG SIRIF | 6Q AT @, 6AVAIR ARIERH 62 Y@ IAUATES
6Q18IR6R 6201q 2Idejem 9Q° AIFIRY YR 2IREE at2j6m | I CIRF F4 621n2mI Ye° 62 ARY Q9 ARRIQ
QIPE6M | 64 6ROR R LIPLIA IR AR 6AITIR AU @R 2T, 6al6d @9 FEQIG 21TRgER | 616 PR
@ Q81 63 691RIRQ AIRIA CI6R |

QPR QOR FER AR fUL! ARRIP FRZ6M ?

Techofworld.In

1) O @UQ AR FAQ PIFQ 2D R |
2) 0l&Q @9OR M |

3) 69 @ QAINIERIAG Q26 |

4) F690IF 64 JRITE @GQIg SI6R |

Correct Answer: 4) 96@0Ig 6a gQIF0 @AQIQ QILEER |

Candidate Answer: 4) @60l 60 QAR FRQIQ PIL2IEM |

QID : 652 - HFEe QUIsI QAR G4 ANIEE 266 | AREILEIR WA IS AQY | Am ARIR ARRIQI G686 YR IR
QP @0 6RIRINER J694 QE6M | 69 698 FPURINIE IR QU6 @RRI6R AV gem AN OIF AR 6Q1m
QU2 \IQ° QLG oI AIFg FEQI AAIRR! QERIl QUIQEER | 01 TR JLIAQ ARFAR I Q M) I9° TQY
dRIQ 191 606IRRIER AIGEM | FIR 6QGEe ARIQE QI6R KIPQ AAQI A6R, 64 2R Y@ BRICY CINGIER,
606l016Q J9Q 9ge AIAg 87 @al AIRRIRI IQ° J6a Q619G ISR CINEIER | 6AFIRE QIcl, F6Q0 GIFa
2RO, QA6Q 602 PRI 2R FRRIEM I9° YRR JeORa UIR Ziede @R | Je8e ol A0IRem &@ 64
QIZQ6R R QI2IF, \IQ° 64 QAR EA6M @ 64 BRF AUIR SIAIF | 6Q FD6M @, 6ARVR ARIER 64 IR AIUARILS
6Q1SIR6R 6001q 2I1dejem 9Q° AIFIRY YR 2iRds at2em | PIF SR J4 6212 Ye° 60 ARy Q9 ARRIg

OIgEIEM | 63 69R QR AR UL AR 6ATI ARIF @3 2TeJ6R, 616T 9g, FEeIg TR | 6716T FRE
@ P8 62 6QIRIAQ QIVIA GI6RA |

Q2 AIRAYQ REGIPEIER, 6QIRIRER FEROIFOIQ MR Q2R CRAINFA FQQE @6 266 ?
Options:

1) goQ Q8N

2) A Gl

3) Qe glee

4) gRéll gIee

Correct Answer: 2) d@109@

Candidate Answer: 2) dR16I2®
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QID : 653 - BEEE QUi QAER g4 ARITS 266 | AQOIPag UINQ A6 AQY | AR AGRIR @RER! @66 J@ 9@
Q0 @UQ! EQIRIRER Y68 @REM | 69 648 FRURIVF UIR 2IRFTE FRRIER ARVA gem T 01 A1 69IR
QLM 1e° Q2 geIN AIFig REIQI AAIRRI QeI AIQYEM | OIF AR IR ARFAR 4 a @7 ¥Ye° FRQ
JeIa Q1 6Q6IRRI6R RIGIER | AIQ 69gEQ ARIQS QIEQ AP AR J6Q, 64 2RY I FRIGG SIRCIER,
600168 499 age aingn QF QQl AINMI \9e° A6Q 96194 FRICIE GIRGIER | 6AAINE QIl, 6@ FIFa
2RI, Q068 U600 KRR K KM ¥NQ° I6RR JeNeE dI6 et @fem | Jeae olg aoItgem & 69
QIgeEa @6l PIQIY, \99° 64 QAR 606M @ 64 DR UIR SILIY | 69 RREM &, 6ARDR ARIER 64 IR 2L
6QIMIR6R 640Iq 2Idejsm 99 AIFY JIR ZIedE @tigem | OIa GIRF & 6QIReml Ye° 64 ARy Q¥ @telg
QIFYER | 69 6R9F AR S1ELIA AIR AR 6AITIE ARIR @R 2I826R, 6a16E ag FaRIg 2TRg6m | 67188 SR
0 98 6 6QIRIFQ QIR Cl6M |

PIER NP PR AR QIR AIGNIF1 FEI6 gFg Om AIAgem

e Techofworld.In

1) Q1061 64 QM @A SIPE6M |

2) QIQ41 6Q QIQ 9YO @AQ1 AR AR AZER |

3) QIRE 6n16d PG PERI AIR 648 Q4 AR F26R |
4) Q196 NG F6R 2R 2em |

Correct Answer: 3) @IQ¢ 60160 GHA 80! A6l 698 Q45 REP F2EM |

Candidate Answer: 1) Q108 60 QR @UQI OIFEEM |

QID : 654 - BERLE QUisl QAER g4 ARIAS 266 | AROIraR UINQ 286 AQQ | AR AtIR FRRRl @66 JoR 1@
Q9 Q! CAININER J6Q6 AR6M | 64 698 FPUARIAIR IR IRFE @RARIER AV Zem Y OIF AR 6QIR
QUPLJEM IQ° QLG g1 AIF1 HEIQI AAIRRI Q6je)Ql QIQEER | O FER JRINQ ARRAR Y Q RE] 99° ARy
JRIa §lIQ1 626IRI6R AITER | AIG 6ACEY ARIAS QIEQ AI°Q FAQI U6, 64 2RY IG FRICIP SIRNCIER,
6601608 99Q 9go AIFIg IF @al AIRRIM IQ° J6R 96IRg ARG SIMEIER | 6AFIRG QI6l, P6Q0! GIwel
2RQI0 QO6R 622 KRR AR RR2JEM I9° I6RR JORRE Ui AIeds ARZM | 9e8e OIF JoIREM @ 69
QIGIEA @6l PIQIF, IQ° 6d QAR 6P6M &@ 64 BRE IR IRIY | 69 FFEM @, 6IRTE ARIER 6 IR AIUALS
6Q1QIR6R 6901g 2IT2jsm 9Q° AIFIRY Ui 2eds @A2jem | OIF IRl F4 62IR2RI 1e° 60 PRg Q9 *ARIg

QIPYEM | 6 6RAR AN LPLIQ AL AR 6AIVIR ABIR @R Ade6m, 616 9g FEQIg ATReEM | 6a16d PR
0 08 69 621R1FQ QIQIA 16 |

P90 JO@ ROe A8 @ P8 6QIRINQ ARIREM?

Options:

1) QI8 6Q AR AILQ 62160 HRY AIRER IS |

2) @108 Ol Ad 96 QIR |

3) QIRE1 6Q U6Q HEIQI AR FYR SRRREM |

4) AIQ8 ARIQE RAQI RIS AR P AR FEPOIFA MG RILLI0Y REIRR| AR 68 620IQ 2ITe6M |

Correct Answer: 4) @I QRIQE AU AR @R MRF I F6aOIFR ARG MRLAAG 6IRe! AR 64
6901 2Idejem |

Candidate Answer: 4) Q106 QRIQS @UGI TLRIR KT IPF Ulpl F6RIFA AMG 19LING VEIAQ! AR
64 620Ig 2IeEM |
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QID : 655 - REimci® QUIet QUER 9g| ARIGE 266 | AROIER UIPQ ABE 09 | AR AR @RRR! @661 Jo@ IR
Q% @00 6RIRINER J6Q6l @AM | 64 698 FQURIAIR AUIR 2IRTE FRRIER AV gem 59 GIF AR 62R
Q2EM I9° 9E eI AIFIG REQI AR QEjejQl AIYER | BIF FRY JRINR ARRAR 4T Q Y e J8Y
dRIa SIQ1 6Q6IRAIEQ RITER | FIQ 6ACEY ARINE QI6Q AIFQ KR! A6Q, 6d 2R IQ FRUCY SIRCIER,
6060168 99Q 9g6 Qg1 9 QI AIRZMI I9° J6a 9EIeq ARIGY SINGIER | 6AAIRE IRl 670! ST
2RI, Q06R A6LQ AR 2I0A RRZEA I8° I6RR JeNA IR 2IRds @R26m | 0eNa OlF AsIRgem @ 6d
QIGQER @6 SIRIF, Y9° 6d QAR QM @ 6d FRF UIR SIRIF | 64 PEM @, FATER ARIER 6€ \IQ AAAILR
6AIBIRER 6d0IR 2Idejem \9e° QIAIRY IR 2108 FR26m | FIF SRl Y4 621RaRl 9e° 64 PRg Q9 @8I

OIgIEM | 69 67RR AR F1ALIA I AR EAITIR AR A 2ITJER, ER1E ag FARIG AIARLIER | 6716E FRY
@ @8 63 621QIAQ QIQIA 6I6R |

G2l AIRZR AgeraQ 661N aa 68ieg, AI2l QA" 60a FaNIBIdRE 61e 2166 |

Options:

Techofworld.In

2) 0@
3) g8ei1o
4) Q99

Correct Answer: 4) Gqg]

Candidate Answer: 4) Gp¢

QID : 656 - g PF6Q IR ARSI ARITE | RROITY AQY Ie° ARG 9ggPea aara dag|

1 4R aIf AI08

661l 2F6Q

¢ 661 2AY6R 9@ PR AR

66166 @R8I AR ¢d AIRg

661l 2FN6Q

¢ 6¢1l 2YI6Q 65166 ERE TIRE
AeIdca A8 e ARl AIRQ

6611 2R

¢ 6711 21181161 66166 FRIAIFIA AIRE

IR 90 A1 AR 6QIR 96 KDd F0RR?
Options:

1) Q16R &F

2) QgL MR 9e° AEIR

3) PQ1G6R 66115\ BoI6Q 616 Q6a

4) QQ1g6e g

Correct Answer: 3) Q1@ 665N F66Q 616 K60
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Candidate Answer: 3) RQ1gGe 6615~ G06Q 616 @6Q

QID : 657 - g¢) A¢J60 J9R @0 2RIAG | #F0IGY AR e AINEE Jggban aan bag |

Q01 §If AR

671l 21E)I6Q

¢ 6611 216168 9@ RQT JIRE

66166 &Q8l A8l ¢fd AR

661 2FY6R

d 661l 2IlIeQ 66li66 Q8! AIRE
ARIAICIA AR R AR AIRE

661 2FYIER

d 661 2lileQ 661I66 FIRIAIGR ARG

@0 Q120 @227 ¢d 9@ ¢asl a"?

oo Techofworld.In

1) ¢@ QI 6TIERI AR G121 6QEIR AR
2) @8l gd QIEl ot

3) Y@l HRAg AT @6Q

4) Q| 9AgalN

Correct Answer: 1) §d JI&i 6FIo'@ IB G191 608! AR

Candidate Answer: 3) 9| 50@g A @61

QID : 658 - 44| 74160 A ARV RIS | FFGIFY ARQ IQ° FAREE 9ggeaa aaa d2g |

Q1 dQ 61F dIed

661l 2IEl6R

¢ 661 21I6Q I8 P ARG

66166 &Rl 96! ¢fd AIRE

661l 26R

¢ 671 2)I6Q 661166 €QEI AIRE
AR U6 AR dIRQ! AIRE

61l 26

¢ 671 21Q16Q 661166 ARIAITA AIRE

@0 Q100 PPe] am dRel "I9 FIdisa AQ"?
Options:

1) FRIITRER MG 218

2) ARIQIBQGER6R RE2lI IE
3) ARIQITRYLe §Q @

4) (RIQITRGER FOHAN
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Correct Answer: 3) (QIQIGQGPR GQ 99

Candidate Answer: 3) CRIQIGIQAGER §Q @Q

QID : 659 - Q¢ AF6R JOA AFGI 2RITE | KIGIEQ ALY Ie° HARES JgERea aaa daig |

Q1 AR 6IF A8

6611 2IQN6Q

¢ 6611 IR IS FRT AR

661166 @Qéll AR ¢d ARG

641l 2F6R

¢] 6c1 2)6a 66166 &Q8l ARG
FR1916Q A8 AR ARS! AR

661l 26

¢] 661 2I)I6R 6616 AIRIKIGR ARE

PRI ARG @'E1?

. Techofworld.Ir

1) IGREIE Q86N

2) QIR ¢d 2gee @Qaf

3) QIgLEIE 66166 AAQY AARIP FRRY
4) QPR @4g 2J6m

Correct Answer: 2) QI8 ¢d 290Q @QRf

Candidate Answer: 2) QiR ¢4 2900 @QaQ

QID : 660 - 44 AC6R JOARRGI 2ARITE | GIGITQ ARY Ie° HARES J5ERea aaa d2ig |

Q1 a8 6If AIRE

6611 21I6Q

¢] 6411 2AIY6R 9L PR AIRE

66166 QI AR ¢ AR

6411 21Q6R

¢] 611 2IY6R 661166’ EREI ARE
FRIAIIQ AR am AR AIRE

6611 2IQ6R

¢] 6611 2II6R 66lI6E ARIATIR AR

606 BP2 @8 "6RQIQ6CIAT" 6mejelem ?
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Options:
1) QRIFIZI QUL
2) FR1Q 6F19R 6QRI0

3) (RJQeR QUG
4) G600 1919

Correct Answer: 2) F@1Q 67126 64R100

Candidate Answer: 2) T@1Q 67190 6dRIU0

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

"We are taking this / situation seriously and the / offenders will be punishing"

=== Tachofworld.In

1) We are taking this

2) situation seriously and the
3) offenders will be punishing
4) No Error

Correct Answer: 3) offenders will be punishing

Candidate Answer: 2) situation seriously and the

QID : 662 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the sentence is
correct as given.

You may (also printed the sheet) by right clicking the sheet and selecting "Print"

Options:

1) also print the sheet

2) also prints the sheet

3) also print an sheets
4) No correction required

Correct Answer: 1) also print the sheet

Candidate Answer: 1) also print the sheet
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QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

The movie goers strongly criticized his movie.
Options:

1) His movie were strong criticizing by the moviegoers
2) His movie were strongly criticized by the moviegoers

3) His movie was strongly criticized by the moviegoers
4) His movie is strongly criticized by the moviegoers

Correct Answer: 3) His movie was strongly criticized by the moviegoers

Candidate Answer: 4) His movie is strongly criticized by the moviegoers

Techofworld.In

QID : 664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

this exercise, you will be working with almost all the major muscle groups in your body.
Options:
1) During
2) Since

3) Because
4) Further

Correct Answer: 1) During

Candidate Answer: 1) During

QID : 665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

All the students will work __ a collaborative environment.
Options:

1)in

2) an

3) about
4) between

Correct Answer: 1) in

Candidate Answer: 3) about
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QID : 666 - Select the word that is closest in meaning (SYNONYM) to the word given below.
PALTRY

Options:

1) contemplate

2) consort

3) insignificant
4) dissuade

Correct Answer: 3) insignificant

Candidate Answer: 1) contemplate

Techofworld.In

QID : 667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
SERENDIPITY

Options:

1) Ruminate

2) Luck

3) Misfortune
4) Lackey

Correct Answer: 3) Misfortune

Candidate Answer: 2) Luck

QID : 668 - Select the word that is spelled correctly.
Options:

1) Fhlehm

2) Fhlem

3) Phlem

4) Phlegm

Correct Answer: 4) Phlegm

Candidate Answer: 3) Phlem
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QID : 669 - Select the most appropriate 'one word ' for the expressions given below.
Someone who is stubbornly unyielding

Options:

1) Pertinacious

2) Sanctimonious

3) Morpheus

4) Delirious

Correct Answer: 1) Pertinacious

Candidate Answer: 3) Morpheus

Techofworld.In

QID : 670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Hear it on the grapevine

Options:

1) to do something badly or cheaply

2) to fight with someone

3) to hear rumours about something or someone.

4) to judge someone or something based solely on appearance

Correct Answer: 3) to hear rumours about something or someone.

Candidate Answer: 4) to judge someone or something based solely on appearance

QID : 671 - Which one of the following is not a method of conducting Oral Work?
Options:

1) Performing actions

2) Asking questions

3) Giving an outline of a story
4) Assigning homework

Correct Answer: 4) Assigning homework

Candidate Answer: 2) Asking questions

QID : 672 - How many roles of listening are there?
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Options:
1)7
2)5
3)4
4)9

Correct Answer: 3) 4

Candidate Answer: 3) 4

QID : 673 - The word Maxim means :

Options:

e 1 €CHOTWOrId.IN

2) A phrase which expresses what is true or what people think is a rule for sensible behaviour
3) The unconscious part of the human mind
4) The study of learning

Correct Answer: 2) A phrase which expresses what is true or what people think is a rule for sensibl
behaviour

Candidate Answer: 4) The study of learning

QID : 674 - Phonology is

Options:

1) The study of how sounds are formed with sound patterns in a language or across languages
2) The study of perception and production of sound

3) The process of arranging words and phrases to create a well-structured sentence in a language
4) The philosophical and linguistic study of the meaning of a language

Correct Answer: 1) The study of how sounds are formed with sound patterns in a language or
across languages

Candidate Answer: 4) The philosophical and linguistic study of the meaning of a language

QID : 675 - Which of the following does learning to speak a language help a child in the process of
learning?

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) The sounds of language along with rhythm, intonation and stress

2) Developing how to listen to class lectures, teachers' speeches and instructions provided to them.
3) The sequencing of ideas into an incoherent whole in an extended talk

4) The practice of keeping thoughts to oneself

Correct Answer: 2) Developing how to listen to class lectures, teachers’ speeches and instructions
provided to them.

Candidate Answer: 2) Developing how to listen to class lectures, teachers' speeches and
instructions provided to them.

Techofworld.In

QID : 676 - The study of how words are formed, their internal structure and their relationship with
other words in a particular language is known as

Options:

1) Phonetics
2) Morphology
3) Pragmatics
4) Orthography

Correct Answer: 2) Morphology

Candidate Answer: 2) Morphology

QID : 677 - The time limit that should be dedicated for teaching grammar to especially lower level
student is

Options:

1) 20 minutes
2) 15 minutes
3) 10 minutes
4) 45 minutes

Correct Answer: 3) 10 minutes

Candidate Answer: 2) 15 minutes

QID : 678 - Which one of these is not an essential use of grammar?
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Options:

1) It teaches various concepts on subject, sentence, verb, phrase, clause and other related things for
editing

2) It teaches proper punctuation and mechanics for clarity, style and convention

3) It teaches sentence sensing through manipulating the syntactic elements

4) It helps one to understand the correct method of decoding

Correct Answer: 4) It helps one to understand the correct method of decoding
Candidate Answer: 2) It teaches proper punctuation and mechanics for clarity, style and convention

Techofworld.In

QID : 679 - The method of using instructional strategies to draw out a student’s attention or focusing
on structure or form is called

Options:

1) Audio-lingual technigue

2) Cognitive communication

3) EGI or Explicit Grammar Instruction
4) The grammar-translation approach

Correct Answer: 3) EGI or Explicit Grammar Instruction

Candidate Answer: 2) Cognitive communication

QID : 680 - Which one of these should one not do when they are working with students who have
special needs?

Options:

1) Seek help from the district of special education or experts on the resource

2) Go on with the course of work without any paying any special attention to the student, as they
should be learning on their own

3) Gather as much information on the students and their needs, on how or if any difference would
affect the learning process

4) Remove any kind of psychological or physical barriers from the classroom, which may limit the
student’s ability to achieve success

Correct Answer: 2) Go on with the course of work without any paying any special attention to the
student, as they should be learning on their own

Candidate Answer: 4) Remove any kind of psychological or physical barriers from the classroom,
which may limit the student’s ability to achieve success
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QID : 681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Who among these is not a sibling of Lata Mangeshkar?

==  Techofworld.In

1) Asha Bhosle

2) Meena Khadikar

3) Hridaynath Mangeshkar
4) Deenanath Mnageshkar

Correct Answer: 4) Deenanath Mnageshkar

Candidate Answer: 4) Deenanath Mnageshkar
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QID : 682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Which of these is not an award bestowed upon Lata Mangeshkar?

== Techofworld.In

1) Arjuna Award

2) Bharat Ratna

3) Padma Bhushan

4) Dadasaheb Phalke Award

Correct Answer: 1) Arjuna Award

Candidate Answer: 1) Arjuna Award
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QID : 683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists’ Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Which of these countries has bestowed the Legion of Honour award to Lata Mangeshkar?

= Techofworld.In

1) Europe
2) France
3) Germany
4) Italy

Correct Answer: 2) France

Candidate Answer: 2) France
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QID : 684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

"Aye Mere Watan Ke Logo" was sung by Lata Mangeshkar against the backdrop of which of these
wars?

- | €CHhOfworld.In

1) Kargil War

2) Cold War

3) Sino-Indian War

4) 1971 war with Pakistan

Correct Answer: 3) Sino-Indian War

Candidate Answer: 3) Sino-Indian War
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QID : 685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Lata Mangeshkar is an Indian playback singer and music director. She is one of the best-known and
most respected playback singers in India fondly called Nightingale of Bollywood and Melody Queen.
She has recorded songs in over a thousand Hindi films and has sung songs in over thirty-six regional
Indian languages and foreign languages, though primarily in Marathi, Hindi, and Bengali. Lata
Mangeshkar was born in 1929, the eldest daughter of Pandit Deenanath Mangeshkar, a Marathi
musician and his Gujarati wife Shevanti in Indore (today in Madhya Pradesh and then the capital of
the princely state of Indore which was part of the Central India Agency in British India). Her father,
Pandit Deenanath Mangeshkar, was a classical singer and theatre actor. Her mother, Shevanti, a
Gujarati woman from Thalner, Bombay Presidency (now in northwest Maharashtra), was Deenanath's
second wife; his first wife Narmada, who had died, was Shevanti's older sister. She has four siblings—
Meena Khadikar, Asha Bhosle, Usha Mangeshkar, and Hridaynath Mangeshkar—of whom she is the
eldest. On 27 January 1963, against the backdrop of the Sino-Indian War, Mangeshkar sang the
patriotic song "Aye Mere Watan Ke Logo" in the presence of Jawaharlal Nehru, then the Prime
Minister of India. The song, composed by C. Ramchandra and written by Kavi Pradeep, is said to have
brought the Prime Minister to tears. Lata Mangeshkar's most notable songs in the 1970s were
composed by Laxmikant-Pyarelal and Rahul Dev Burman. From the 1970s onwards, Lata Mangeshkar
has also staged many concerts in India and abroad, including several charity concerts. Her first
concert overseas was at the Royal Albert Hall, London, in 1974 and was the first Indian to do so. Lata
Mangeshkar has won several awards and honours, including Bharat Ratna (India's Highest Civilian
Award), Padma Bhushan (1969), Padma Vibhushan (1999), Dadasaheb Phalke Award (1989),
Maharashtra Bhushan Award (1997), NTR National Award (1999), Bharat Ratna (2001), Legion of
Honour (2007), ANR National Award (2009), three National Film Awards and 15 Bengal Film
Journalists' Association Awards. She has also won four Filmfare Best Female Playback Awards. In
1969, she made the unusual gesture of giving up the Filmfare Best Female Playback Award, in order
to promote fresh talent. She was later awarded Filmfare Lifetime Achievement Award in 1993 and
Filmfare Special Awards in 1994 and 2004.In 2009, Mangeshkar was awarded the title of Officer of
the French Legion of Honour, France's highest order.

Lata Mangeshkar's first concert overseas was at which of these halls?

« | @Chofworld.In

1) Royal Opera House
2) Syndney Harbour

3) Royal Albert Hall

4) Royal Victorian Club

Correct Answer: 3) Royal Albert Hall

Candidate Answer: 3) Royal Albert Hall
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QID : 686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage,which of these laws has Macavity broken?

== Tachofworld.In

1) law of depravity

2) law of levitation

3) law of gravity

4) law of scotland yard

Correct Answer: 3) law of gravity

Candidate Answer: 3) law of gravity

QID : 687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

From the passage above,select the most appropriate ‘one word ' for the expressions given below.
A religious ascetic or mendicant monk commonly considered a wonder-worker.

Options:

1) astronomer

2) fakir

3) detective

4) mystery man

Correct Answer: 2) fakir

Candidate Answer: 4) mystery man
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QID : 688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy th
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scent
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage, who among these does not reach the scene of crime?

Techofworld.In

Options:

1) the reader

2) scotland yard
3) flying squad
4) fakir

Correct Answer: 4) fakir

Candidate Answer: 3) flying squad

QID : 689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy th
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scent
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

Select the word that is closest in meaning (SYNONYM) to the word given below.
LEVITATE

Options:

1) demolition

2) ascent

3) demotion
4) motivation

Correct Answer: 2) ascent
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Candidate Answer: 3) demotion

QID : 690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Macavity's a Mystery Cat: he's called the Hidden Paw— For he's the master criminal who can defy the
Law. He's the bafflement of Scotland Yard, the Flying Squad's despair: For when they reach the scene
of crime—Macavity's not there!

Macavity, Macavity, there's no one like Macavity, He's broken every human law, he breaks the law of
gravity. His powers of levitation would make a fakir stare, And when you reach the scene of crime—
Macavity's not there! You may seek him in the basement, you may look up in the air— But | tell you
once and once again, Macavity's not there!

According to the passage,which of these refers to Macavity ?

- Techofworld.In

1) Hidden Paw

2) Fakir

3) flying squad

4) mystery man

Correct Answer: 1) Hidden Paw

Candidate Answer: 3) flying squad

QID : 691 - According to Lancelot Hogben, “Mathematics is the mirror of civilization” this statement
corresponds to which value of mathematics?

RIIPYS 6RIGI69RR FIPER, "F80 ARILIQ @d8" IR @geYT FEI0a 604 (mia Qe ARaN?
Options:

1) Social
aiEe

2) Geometrical
uAoe

3) Disciplinary
a3 2]

4) Statistical
ARSI QIQ

Correct Answer: 1) Social
alla ([l

Candidate Answer: 1) Social
aEe
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QID : 692 - In mathematics, ‘Representation’ refers to

616060, "goRYQ" Q@ QEN |
Options:

1) expressing the given data through graphs

Qe £lldeeR goa 02ld geldl G?Qg

2) expressing an important geometrical result as a theorem
QAAIQY @AIQER IR FREYE MIFEe TRICR geIsl fAQ

3) expressing the number sequence through geometrical patterns
RUIFGe Aadle goe ArIFER A8l 9T QRIE @AR

4) All options are correct

afg fep abe

Correct Answer: 4) All options are correct

ang deg ade

Candidate Answer: 4) All options are correct

arq Yag 20 T I f I | I

QID : 693 - is not a contributing factor responsible for mathematics anxiety.

___ ¢80 Q69010 996CI6RIN QIR Q6% |
Options:

1) Nature of subject
QAR 990

2) Examination system
dFIQ 4|

3) Gender

P

4) Syllabus

dmiea

Correct Answer: 3) Gender
mer

Candidate Answer: 3) Gender
mer

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 694 - As per NCF 2005, the goal of teaching mathematics in the school curriculum is to make
children learn ‘Important Mathematics'. Important Mathematics means

NCF 2005 29169, @o4IR0, AIOYIRAER 6180 16RQIQ RAY 6208 AIFING 'JQeJéd 6160’ d6adal geqs
6I8io Al6R |

Options:

1) understanding the appropriate use of learned mathematical techniques
SesingQl QIEioe ealdgheq JaIde 1eeIag 98l

2) learning all the geometrical theorems

QAg QYIAGR QAAIQY &gl

3) knowing mathematical procedures and algorithms

CIEIoe A0 YQ° ZIREAIRGA QIEQI

4) solving mathematical puzzles easily

CIEIoe QA A2R6Q AFRIE KRR

Correct Answer: 1) understanding the appropriate use of learned mathematical techniques
SesireQl cIEioe enldgiea JaIde Q1eeIeg 98l

Candidate Answer: 3) knowing mathematical procedures and algorithms
GGG ARG \e° 2IMEAINGH RIEQI

Techofworld.In

QID : 695 - Which of the following preference is given during the initial stages of teaching
mathematics in primary schools?

JI2Ifie QYRR GIEI0 A6eRQl AR ﬁ’ﬂﬁ%}i@ 69@@@ dIefie @IQ6 QRINY Dl AR?
Options:

1) Multiplication and Division of numbers
aegila gé 8 QUG

2) Number identification and counting
Q7 AQIQRRE 1Q° GIEIRI

3) Measurement of height and weight
QRO \99° BRe ARAId

4) Revision of all the math’s formula first
Q2IF1 80 QeI 99 JRPERoR

Correct Answer: 2) Number identification and counting
Q7R ARIQRAE IQ° CIEIR|

Candidate Answer: 2) Number identification and counting
QI ARIPQQE IQ° CIEIR)|
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QID : 696 - Arun simplified the given rational number —15/-35 = =3/7. This error can be considered
as

2R 40a PR sl ~15/-35 = -3/7 AQR1RQE FAZER| IR 9F 8AIQ6Q 369001 AQI AIRAIEA

Options:

1) Careless error
2062 9

2) Critical error

4eea 98

3) Procedural error
ARGEe 9F

4) No option is correct
6aleld Qag O ged

Correct Answer: 1) Careless error
269 98

Candidate Answer: 3) Procedural error

™ Techofworld.In

QID : 697 - is not a Problem Solving Strategy in mathematics.

clEioq Aray AARINA 6RlEIR QG§I
Options:

1) Drawing

wa

2) Solving backward
ae aly delilie

3) Rote learning
qelg R adQ|

4) Trial and error
010 8 Q6

Correct Answer: 3) Rote learning
qelg @18 9QQl

Candidate Answer: 2) Solving backward
ae 2lg dele
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QID : 698 - If a child shows much interest to participate in mathematics quiz competition, then what
objective of learning does it indicate?

A9 616 &g 6600 PaR JO6AINRIEA 2°¢ 6ARIA A6 2GR 6Q6IN, 606Q 12! HigQIQ (AR AERENE F6TE
P6a?

Options:

1) Affective
2leQ6! delaL,

2) Psycho-motor
JIQERI-6C1IT'R

3) Deductive

21 @G|

4) Summative
aercR

Correct Answer: 1) Affective
2696l A1

Candidate Answer: 1) Affective

" Techofworld.In

QID : 699 - What would be your strategy for addressing the needs of visually challenged learners in an
inclusive mathematics classroom?

68i0a gIagrea QF 96gR1 (AgaIM S4leRe) FAINRAIR 2IASFR 6al6RT @6 62Q?
Options:

1) Offer them another subject in lieu of mathematics

680Q afeda SIf 298 @ Fa FaIg

2) Design alternate teaching-learning and assessment methods
0qq Sae-aaIQ Ie° gRIILe aeb Grlae Aag

3) Pair them with high scorers in mathematics

6E0Q QPR 6¢/QQ 26 GIQ 6RIGY

4) Pair them with high scorers of other subjects

204104 QAR APOR 6409 AIFER OIF 691G

Correct Answer: 2) Design alternate teaching-learning and assessment methods
0qq Sae-aaIQ Ie° RN A80 GRIaR @ag

Candidate Answer: 4) Pair them with high scorers of other subjects
AN VIR ARON 6410 dIkFERl Qe GQI@Q
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QID : 700 - A student of class VIl defined the rectangle as “Rectangle is a quadrilateral whose
opposite sides are parallel and equal”. This definition reflects that the student ;

VIl 6618Q @661 EQIEN "20e66 9@ 09Le JIRIQ FAQIE Fegee AFIRAIR e° AAIR" BAIQ6R ANLENLT
ARIDG Q6Q 1 4@ Q% SV JoTRo Q6eql

Options:

1) does not know the correct properties of the shape

21960 A0 6564 g @6l AIF

2) is not able to recognize the shapes

2IRIQGEP 090 @AI6a AV geg

3) knows some properties, but missed some important properties to complete the definition
@8 6361 Q182 , 6069 ARIT A FRRIAIR §8 gREJEl 63EY 216 Fag |

4) No option is correct

6al6d dag a0 Q6L

Correct Answer: 3) knows some properties, but missed some important properties to complete the
definition

— e

@2 638q QBRI , 606@ RIS A% @RRICIN B2 gREJsl 63 210 G217 |

Candidate Answer: 4) No option is correct

Techofworld.In

QID : 701 - Which of the following can be represented as a recurring decimal?
RNYEGENR FRIER 6866 JRPAIQR Q6IAe BAIR6 AAYITE 62RAIER?

Options:

1)1/2

2)1/8

3)1/3

4)1/5

Correct Answer: 3) 1/3

Candidate Answer: 1) 1/2

QID : 702 - If a™.b" = 3087 where a and b are prime numbers, then what is the value of a + b?

QG a™.b" = 3087 60Q0IEA a 9@° b A Q°6ll, 606@ a + b & FmY @607
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Options:
1)10
2)12

3) 11
4)7

Correct Answer: 1) 10

Candidate Answer: 1) 10

QID : 703 -

1
What is the value of (xﬂ 69 — 144 + 7 x 5)5 ?

1
(v169 — 144 + 7x5)7 Q lIe 6@6a?

Options:

.. Techofworld.In

3)6
4)5
Correct Answer: 3) 6

Candidate Answer: 3) 6

QID : 704 - Total surface area of a cube is 864 cm?. What is the value (in cm) of the side of cube?
19 QI9Q 6716 QYR 6FFTR 864 6072 | IeQ AP (M (59F6Q) 69667

Options:

1) 14

2)12

3)16

4) 18

Correct Answer: 2) 12
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Candidate Answer: 3) 16

QID : 705 - Twice of the area of a circle is 1232 cm?. What is the diameter (in cm) of circle?
e QAR 6IQTRA §g6 1232 692 | Q@ 414 (6376Q) 69667

Options:

1) 28

2) 14\(\sqrt{2}\)

3) 14

4) 21

Correct Answer: 1) 28

Candidate Answer: 2) 14\(\sqrt{2}\)

QID : 706 - Curved surface area of a cone is 440 cm?. If slant height of cone is 8 cm, then what is the
radius (in cm) of cone?

6R1Q Q Q&I QYR AT 440 6482 | UG 691Q A VL A ARO! 8 647 £\, 969 6RIQ Q YA (6aF6Q) 6866?

Options:

. Techofworld.In

3)17.5
4)19.5

Correct Answer: 3) 17.5

Candidate Answer: 1) 21.5
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QID : 707 -

What is the value of (1+%J£‘1+ ! )

ARENES S
(1) f1+1J[1 < 12J£1+f13]

Q flIe EREQ?

Options:
1) 4x2 + (1/x3)

e 1 €CHOTWOrIC
3) x2 + (4/x?)

4) 1+ (4/x%)

Correct Answer: 4) 1+ (4/x?)

Candidate Answer: 3) x? + (4/x%)

QID : 708 - If x = 3v3 - 5, then what is the value of [x + (1/x)]?
08 x = 3v3 - 5,606 [x + (1/x)] Q AIR 69607

Options:

1) (9V3 + 5)/2

2) (9V3 - 5)/2

3)6v3-10

4) 6v3+10

Correct Answer: 2) (9v3 - 5)/2

Candidate Answer: 2) (9v3 - 5)/2

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 709 - If x = 0.5 and y = 0.2, then what is the value of v0.4 x (2y)*?
Q0 x = 0.598° y = 0.2 9\ 606@ V0.4 x (2y)* IR 6266?

Options:

1)1

2)0.5

3)0.4

4)0.8

Correct Answer: 3) 0.4

Candidate Answer: 4) 0.8

QID:710-1fa=7,b =6 and c = 2, then what is the value of a® + b? + ¢? - ab - bc + ca?
Q@ a=7b=699c=2g9 6069 a’+b2+c?-ab - bec+ca Qe 6a66?
Options:
1) 21
»» Techofworld.In
.
3) 27
4)53
Correct Answer: 2) 49

Candidate Answer: 2) 49

QID : 711 - What is the reciprocal of [x + (1/X)]?
[x + (1/x)] Q@ AIRGRR( 6QT6IRIA ) MY FEI?
Options:

1) [(1/%) + %]

2) [x/(x +1)]

3) [x/(x*+ 1)]

4) X%/ (x + 1)]

Correct Answer: 3) [x/(x?+ 1))

Candidate Answer: 3) [x/(x%+ 1)]
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QID : 712 - Cost price of two articles is Rs 6000 each. If the first article is sold at a profit of 15% and
the other article is sold at a loss of 15%, then what will be the overall profit/loss percentage?

J@ 9t Peeq A4 6000 6'F | g2IFl PRT U0 15% RIRGR Ie° 201 ReST 15% [P60 8§ 9\, 6060 AIFIGs
AR / WO §161°61 6860 297

Options:

1) 2.25%, profit
2.25%, AR

2) 2.25%, loss
2.25%, 96

3) 4%, loss

4%, 86

4) No profit no loss
0l AR QI 96

Correct Answer: 4) No profit no loss
Pl AIQ R /G

Candidate Answer: 4) No profit no loss

Techofworld.In

QID : 713 - A can do a work in 20 days and B can do the same work in 40 days. If they started the
work together and worked for 5 days, then what fraction of work is left?

A 20 GRQ FIIER IR QIF @Q1 AI6R 9Q° B 40 GRQ F1:I6Q 600 QI @Q1 AIEA | A8 6QACIER IQAIGPER Q1A
QA 9QG Ie° 5 G0 QIF @AY, 6069 RIFER 6866 6T QIR ARL?

Options:
1)5/8
2) 8/15

3)7/15
4)1/10

Correct Answer: 1) 5/8

Candidate Answer: 4) 1/10

QID:714-1f A:B=3:5andB = 25, then what is the value of A x B?

E]@A:B=3:5\‘]Q°B=25Q\’I,6€:‘GQAXBG}ﬂiG’S@G@?
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Options:
1) 375
2) 380
3) 275
4) 340

Correct Answer: 1) 375

Candidate Answer: 3) 275

QID : 715 - If X is increased by 20% and then again it is increased by 20%, then by how much
percentage the value of X will be finally increased?

Q& X @ 20% 98 QI £ 96° QIU6R AIRLIER 20% B A £, 6060 X Q AIR 6618 AR 6760 SI0rE 8
QIee?

Options:

1) 44

»» Techofworld.In
3) 20

4) 30

Correct Answer: 1) 44

Candidate Answer: 3) 20

QID:716-1Ina A ABC, £A = 90° and D is mid-point of AC. What is the value of BC? - BD??
A ABC 68, £A = 90°\¥@° D, AC @ 71l g | 696@ BC? — BD? @ AR 6667

Options:

1) 4AD?

2) 3AD?

3) 2AD?

4) AD?

Correct Answer: 2) 3AD?

Candidate Answer: 4) AD?
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QID:717-
In the given figure, CD||AB. What is the value
(in degrees) of y7

goa 0g6a, CD||AB! y @ IR (8916Q) 6@657?

A D

3x

3X 4x y

>» Techofworld.l

Correct Answer: 1) 54

Candidate Answer: 4) 60
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QID:718 -

In the given figure, f BC =16 cm, AB=12cm
and AC = 18 cm, then what is the value (in cm)
of DC?

Joa 8066q, 9@ BC = 16 64¢, AB = 12 644 1e°
AC = 18 6471 @4, 6069 DCa ¢lig (64716Q) 6657

 Techofworld.In

Correct Answer: 4) 9.6

Candidate Answer: 1) 4.8

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID :719 -

In the given AABC, A = 90°. If AD1BC, then
which of the following statements is the correct?

do@ AABC 62, /A =90°, 9@ AD1BC g4, 6069
QOGS PQOgER FrIER K€IT A0R?

C

Options:

ne-no [ @chofworld.
3) AB2=BC x DC
4) AB% = BC x BD

Correct Answer: 4) ABZ=BC xBD

Candidate Answer: 2) AB?=BD x AD
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QID: 720 -
In the given figure, O is the centre of circle, what is
the value (in degrees) of Z/BOC?
gea 568 099e 698, /BOCQ IR (G06Q) 6@6a7?

A

Options:
1) 120

. Techofworld.In

4) 180
Correct Answer: 2) 140

Candidate Answer: 1) 120

QID : 721 - How simple experiments and directions by teacher can be helpful for students in science
classroom?

G890 990 AQISFFIEI B FETaR| SRIF 658e8 SRIFNQ AR 9Q QI6E ARINe 62 AlI6R?
Options:

1) Discipline the students

SRR GRFRIRR @ag

2) There is no significance of experiment in the class

R1960 VIR gQE I8

3) Enabling them for self- learning and enhancing their observational skills
OlFa 9-881Q AR 1e° SlFa Adeewsl @0l @fa dinl 8¢ KA

4) No option is correct

6l61d Aap a0 gee
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Correct Answer: 3) Enabling them for self- learning and enhancing their observational skills
OIFQ ¢-EI8IQ AR 99° Qlera AJ6eRE 0RGI 98Q Ikl A8 @QS

Candidate Answer: 1) Discipline the students
daINea HRIeS Fag

QID : 722 - What is the primary aim of performing hands on activities and projects as an integral part
of learning science?

ARIe S66inQl 66166 26RQY e BAIR6R @ITR ¥Q° g@@q@@ RARI6Q IR JefiR A @61 266 ?
Options:

1) Keeping the students engaged all the time

daighera 99l @49 Qelg

2) Assessing the students on practical skills

QIQLIAR FEIQ AR XN ARYILE @Q9I

3) Providing opportunity to students for extended learning
faigiea gaide SitIq AR gedisl gele @t

4) Maintaining discipline in the laboratory

ARG G)6F@l @ERH GG

Correct Answer: 3) Providing opportunity to students for extended learning
digIeherq 9aIfe d8IQ AR g6QIsl IR @69

Candidate Answer: 4) Maintaining discipline in the laboratory
ANYIGIG GJaPRl QERM Q|

Techofworld.In

QID : 723 - What is considered as a key to make science learning more effective?

ARR GAIQ 2YP AN @QQ! Al @6l 9@ 018 Q6A F6RER| FRIAN?
Options:

1) Connect the teaching with real-life
ARG QIgR-R1QRQ ARG A°Y] FaQ
2) Story telling

ag @aql

3) Rote learning

geig @Ien &gl

4) Puzzles

qaul

Correct Answer: 1) Connect the teaching with real-life
Salag Qge-w1ena ade agg @ag
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Candidate Answer: 1) Connect the teaching with reallife
RIRg QIge-71era a6 a°gq feg

QID : 724 - To show ‘how water effects the germination of seeds’, a science teacher asked the
students to soak bean seeds on a bed of cotton wool for a few days and observe the changes. What
is the guideline that she forgot to mention?

‘PAR U8 Q180 AGEAIREIFG JAIFE F6Q O 696N UIR, B66 FRIE Sae daldg 8 Gr AR 4ol 9UEI 6Q
Q@) 0B QAIRAYQl Ne° AReFRgFY AdceRs @RRlg 2f |69 @6 ALRH @RIy @R AIRe] ?

Options:

1) To place many seeds on wet cotton
(30l R0 AUEA 2A6RP B Q6Ig

2) To place few seeds on wet cotton
601 @001 QJ6R 2R AR Q6lg

3) To place many seeds on dry cotton
geiml @00 QA6R AR AT QAsiQ

4) To place few seeds on dry cotton
gejml @del adee 2y & G)G'Ig

Correct Answer: 2) To place few seeds on wet cotton
601 @001 QTR 2 A8 Q6lg

Candidate Answer: 2) To place few seeds on wet cotton

Techofworld.In

QID : 725 - Which of the following technigues will not be recommended for the science teachers while
teaching science in the classroom?

66150866 AR J6RRRI AAER ARIPG FRRQ ARl REREE 6R6 6RIERT @GI JUIRE 6KIeH Q687
Options:

1) Take a test to know about previous knowledge of students

SIEhea QUaeT fiP AMEeq I8l dIGl 66lI6S ARSI 8

2) Use manipulative materials for explaining the concepts

URSIR @464l @ARIQ Aiel FHRYATR AURAEIGFR MR @6G

3) While introducing a complex concept, ask only open — ended guestions to stimulate thinking of
students

IR GER ARSI FYAER KR! AAAER, IR BRIAINAI ARIRIA AIE 689R AQY U4 A0Iag

4) All options are correct

ang Geq ade

Correct Answer: 2) Use manipulative materials for explaining the concepts
URAIR Q6 @ERIQ AIR FHIRYATR AIRAHGER 1eRIa @ag
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Candidate Answer: 3) While introducing a complex concept, ask only open — ended questions to
stimulate thinking of students
IR QER UGS FRAER @2Q| AAMEE, SRIENIR TRIRINR AR1UNIA dic 62eR gy J¢ JoIag

QID : 726 - A teacher is planning an educational tour for children of class VIl to Rajasthan. What
should be the expectation of teacher from the students?

@661 iA® AgF 6650 TRIFING IRl QIRYIRES 66166 SRINRT QFlsl 6 JaeRrl @aag | dialdha OIg iana
o6l @61 6201 QB6?

Options:

1) They should rejoice

6QCIER 2IRe REQ QB0

2) They should not raise any question

6Q71I6R 6a16E gF ARIRQI AEE Q6

3) There should be pin drop silence on the trip

QAIQI AF6Q °QE F1096I QBRI 060

4) They should observe carefully and share their observation with other children and teachers
6ACIER QIRUIRG! e AT6QRE @EQI ADF ¥9° PIFQ AL6REEE 204 TRIFING 9e° Saew

e QAR FRERI QPG

Correct Answer: 4) They should observe carefully and share their observation with other children
and teachers

6Q71I6R AIQUIRG! 92 ATERAE AEQI AF6 ¥e° OIFa AJEQREE 2RY TRIAING Ye° Jaee

a2 PQIRE QESRS QGO

Candidate Answer: 4) They should observe carefully and share their observation with other children
and teachers
6AFlIER AIRUIRE| A2 ATERRE AEQI Q06 Ye° PIFR AJEQRET 204 TRIAING 1&° Saae

Techofworld.In

QID : 727 - As a science teacher what kind of understanding we get while doing diagnostic tests in
science?

P66l GRie SRR 2a16Q, FRINER FIACRTR ACIHI AR AALER 2l6A Q6 ARSI AIR2AR?
Options:

1) How wise the students are?

dmehaiee a0 QRAIR?

2) How recurrence helps the student?

JRQIQA AAA 2199 AQINE! @607

3) The difficulties faced by students in studying science
RIP 2RIE6R EaITIg 606 2RI 6208

4) No option is correct

6al6id Bag A0 g6
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Correct Answer: 3) The difficulties faced by students in studying science
QFIe 2U006a SRIENG 60Q 2Rl 6208

Candidate Answer: 4) No option is correct
6al6id Sag ade g6

QID : 728 - What is the primary purpose of making science museum in elementary school?

gI2fie IMIRI6R ARIR FaRar G2IR @RI gleltia acaey @617
Options:

1) Giving the opportunity to learn lessons quickly

g@ 6Q6le6 AIOY @qcma gedlel 60 |

2) Providing education opportunities

§RIQ g6RIsl IR KRR

3) Adopting habit of observation and collection in students
SAIENSA FrISA AT6R8E \6° A°gaa 2QYIC GRE FAIRS]

4) Saving money in teaching of science

SRIpQ Sal AR 28 a8 @89l

Correct Answer: 3) Adopting habit of observation and collection in students
JaIeea Aasa AJ6RRE N6° A°gen 2QMIE GRE AAIRS!

Candidate Answer: 3) Adopting habit of observation and collection in students
SRNea Auea Ad6Qa6l \9e° 2°gea 2Q1Id G968 fAIRS!

Techofworld.In

QID : 729 - Which of the following is not an aim of teaching science at upper primary level?

e eed § ae gifie gasa GRINQ AI0IRINA RAY 9627?
Options:

1) Raising curiosity about the natural and social environment

Jgee 99° QIfRe JA6E AMHER 6RI0RR QYIAn

2) Assimilating values that concern the life and the environment

190 9Q° ARERE Q66 606 RYERI ALY

3) To engage the students in the practical and research activities

SRleha Q10215 ¥e° 66Qa4l AITQA6R KHE Qg

4) The burden of learning vocabulary and definitions for children’s assessment
TRAIRFA AR IR SRR IQ° O°H &6l Qe

Correct Answer: 4) The burden of learning vocabulary and definitions for children’s assessment
TRNINER IRINRA IR SRR 9Q° I &sl Q&

Candidate Answer: 1) Raising curiosity about the natural and social environment
Jg0e e QIfRe JB6E AMHER RIQeR QGITR
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QID : 730 - Which of the following is the main feature of assessment in science?
Q6)Q 6RQT ARIPQ MR QIR 6TEGY?
Options:

1) Itis organised at the end of the year

9| @d6Q 66146Q 2I6LRR AR @\

2) Itis diagnostic in nature

Q| geoa @IGQIEQIIQQ@

3) The purpose of enhancing experimental skills

dIRIFRe QG Q8a QcRdl

4) The purpose of developing a scientific approach among students
ARIFNIFA FU6R TR ANTQ AT ACREN

Correct Answer: 2) Itis diagnostic in nature
2| Qo QleRleaIRge

Candidate Answer: 4) The purpose of developing a scientific approach among students
SRR A6 6TRIPR AROR ARIEQ AERE!

Techofworld.In

QID : 731 - Which method of separation would you use to separate a mixture of salt and water?

MRE Ie° AIEiQ Figel J2R AAQI 2IA8 66 JIRIRAER R66 AQLRIR AE6Q?
Options:

1) Evaporation
QAYIRa8

2) Sublimation
AQeraR

3) Sedimentation
6006766197

4) Decantation
GRler6aaR

Correct Answer: 1) Evaporation
QYR8

Candidate Answer: 1) Evaporation
QYIRQE!
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QID : 732 - Which of the following metals is most likely to displace iron (FeZ*) in ferrous sulphate
solution?

RARGE QA FRIGE 6REE 6FAT ARETE 961 60 AIRAR (Fe?t) A RgIe @RI AAIRR! AQOIQ 69612
Options:

1) Copper
gl

2) Lead
aal

3) Zinc
2la

4) Mercury
aie

Correct Answer: 3) Zinc
Qg

Candidate Answer: 1) Copper

w Techofworld.In

QID : 733 - Sulphur is present in which amino acid?

ARTR 626 2IF16R1 Y80 60 QAF0?
Options:

1) Cysteine

aqa

2) Alanine
QIQ@@(ZIIQIQIQQ)
3) Lysine

al=laloy

4) Valine

QIR

Correct Answer: 1) Cysteine
a@qe

Candidate Answer: 4) Valine
QUIRe

QID : 734 - Which of the following process is responsible for advance sunrise and delayed sunset?

21921 g6dien, 9e° 8Rge 9dig AR BAREO 606 gR QIN2I6E ?
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Options:

1) Atmospheric reflection
QIYAEMID, 53¢

2) Multiple reflection
QRS 96ag]

3) Dispersion

88

4) Atmospheric Refraction
QIZAERID, 468!

Correct Answer: 4) Atmospheric Refraction
QYA I5ARE!

Candidate Answer: 4) Atmospheric Refraction

Techofworld.l

QID : 735 - Which of the following elements is NOT a metalloid?

RIRGO QAIRINA AIER 6REIG U ARIE] Q627
Options:

1) Borane
6QIQR

2) Sodium
Safl2lale

3) Antimony
2AE6AIRD

4) Silicon
dRee

Correct Answer: 2) Sodium
6QIGAE

Candidate Answer: 3) Antimony
286D

QID : 736 - Which chemist is credited with the discovery of Neutrons?

FACR 210g0a AR 696 AQINNRRY QO B2 @9?
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Options:

1) J. Chadwick

6e. PIYERW

2) Neils Bohr

Q1R 6912

3) J.J. Thomson
60.60. 2F19e

4) Ernest Rutherford
2l6aq AIRIQETTIE

Correct Answer: 1) J. Chadwick
6R. QPR

Candidate Answer: 1) J. Chadwick

| Techofworld.I

QID : 737 - Isotope of which element is used in treatment of Goitre?

oIRGlE (6INEQ) PRYI ARl AIREAIESIIR 626 AURIRTY IRLIQ PRI 997
Options:

1) Uranium
RACARAA
2) Cobalt
Zallal

3) lodine
ARG

4) Carbon
PR

Correct Answer: 3) lodine
ARG

Candidate Answer: 3) lodine
2IRBEER

QID : 738 - Which of the following elements is polyatomic in nature?

QORYE QUIRINQ FIIEA K8 JQE6Q AMIESI6ATH?
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Options:

1) Argon

26

2) Sulphur

amarel

3) Helium

Q1maq

4) No option is correct
6leId Geg a0e g6

Correct Answer: 2) Sulphur
AmTR

Candidate Answer: 2) Sulphur

" Techofworld.In

QID : 739 - Which connective tissue is found between skin and muscles, around blood vessels, nerves
and in bone marrow?

Q0! ¥Q° 604I1gER FAX6R, AYRIRIYFNR SIRAIGER, I Ne° 2 AGIea 606 A°gR 594 AR aa ?
Options:

1) Cartilage
QeI

2) Adipose tissue
\G6aIa 69

3) Tendons
cara

4) Areolar
EBRA

Correct Answer: 4) Areolar
RGRa

Candidate Answer: 2) Adipose tissue
\4G6aIa §g

QID : 740 - Deficiency of which mineral causes scurvy in human beings?

6RGl SERTR 2QIQ AIRS FrIEa g&l 9F @607
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Options:

1) Vitamin A
QeIde A
2) Vitamin C
@eIfie C
3) Vitamin B
@eIfe B
4) Vitamin D
QGIAe D

Correct Answer: 2) VitaminC
Qelde C

Candidate Answer: 2) Vitamin C

TechoﬂNoHdIn

QID : 741 - Heating effect of electric current across an iron rod increases with

66166 PRI QR FUER 63910 JIQ 6IRF &I Q@e Q8 AN |
Options:

1) increasing voltage

6QUERR Q8

2) decreasing voltage

euleRe 4

3) increasing cross sectional area of rod
QeQ 2Qdg (99) FQUGI1LL 68Q Q @&

4) decreasing length of rod

Qe Q 6644 Q19

Correct Answer: 1) increasing voltage
6RUERR Q8

Candidate Answer: 4) decreasing length of rod
Q0 Q 60dY @I

QID : 742 - Gravitational Force between two objects decreases with _____.

9aE Qg FINER ARIRd, 61§ Q 98¢ 219 ANl
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Options:

1) increasing distance between two objects
QG Qga FtY Qg A QR

2) decreasing distance between two objects
QRG Qg 64 9QP 219

3) increasing masses of both the objects
Qe Aga aIa 8

4) increasing mass of any one object

6al61d 9@ Qg IQ QF

Correct Answer: 1) increasing distance between two objects
QRG AgR A6 90 A QR

Candidate Answer: 1) increasing distance between two objects

Techofworld.In

QID : 743 - S.1. Unit of pressure is .

S| QI YRed

Options:

1) Joule
ga

2) Newton
Aol

3) Pascal
ayg6am
4) Watt
gle

Correct Answer: 3) Pascal
ayaeam

Candidate Answer: 4) Watt
Qg

QID : 744 - Lactometers used to determine purity of milk, are based on which principle?

QIR R0 ATREIR Uil 19PE MIRESIAGIA 696 F10 QUER BE F6Q?
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Options:

1) Bernoulli’s Principle
QIEFIRQ (JRR1E

2) Calvin’'s Principle
KRR IRE1E

3) Archimedes's Principle
2RAP9R AR

4) Newton's Principle

0R0R Q gReTe

Correct Answer: 3) Archimedes'’s Principle
ARAGAR IR

Candidate Answer: 2) Calvin's Principle

Techofworld.In

QID : 745 - The Resistance of an iron rod is R. If the length of the rod is increased by 4 times, then the
resistance of the new rod is

666 RAIQ QPR ARG R1 G Q99 6641 4 & 98 @8I 99 6069 G2 AER JFESI g9l

Options:

1) 4R
2) 2R
3) 8R
4) 10R

Correct Answer: 1) 4R

Candidate Answer: 1) 4R

QID : 746 - Which is not a part of female reproductive system in human beings?

@61 1IN 60260 (PR JGRR O AP Q6a?
Options:

1) Cervix
ClmeQs

2) Ovary
oqe,

3) Uterus
QI

4) Urethra
FJoRIRT
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Correct Answer: 4) Urethra
91

Candidate Answer: 1) Cervix
GImeQE!

QID : 747 - The process of ‘Spore formation’ can be seen in which of the following?
'RIGEOR IFAUT FARGE 6R4 626 AN?
Options:

1) Bryophyllum
QELIAYRA

2) Rhizopus
Spag

e [ @Chofworld.In

4) Hydra
20!

Correct Answer: 2) Rhizopus
dpaga

Candidate Answer: 4) Hydra
2][ale]

QID : 748 - Which gas produces a pop sound when brought near a flame?

6ae 61419, sia sG] 2I36m 66165 AT 616 Qg §9?
Options:

1) Nitrogen
RGeS
2) Sulphur
oo

3) Hydrogen
Qagle

4) Carbon
RS

Correct Answer: 3) Hydrogen
Qe

Candidate Answer: 4) Carbon
Qe
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QID : 749 - Chemical name of Plaster of Paris is

QU AT AIRAQ AAITHS QI !
Options:

1) Calcium Sulphate

MR AR

2) Copper Sulphate

PdIQl dIReTS

3) Calcium Sulphate Hemihydrate
PN AREPS 62F2IR69C

4) Copper Sulphate Hemihydrate
RJIQ AIRETS 627LIRERT

Correct Answer: 3) Calcium Sulphate Hemihydrate
MIRTAA ARETES 62721606

Candidate Answer: 1) Calcium Sulphate

Techofworld.In

QID : 750 - When the position of an object is at infinity, then what is the size of an image formed by a
convex mirror?

66@ 60 QQGI ddle 21l 9\, 606a Kaw @de QIgl 6100 9@ @QGI 2R @6l 62 ?
Options:

1) Same as size of object
QQGI 2RI BAIQ6Q AAUR

2) Point Size

aNg aiaiel

3) Half the Size of object
G’QQ 2l 2lwIel

4) Double the size of object
edaeieia 9gé

Correct Answer: 2) Point Size
AN AR

Candidate Answer: 4) Double the size of object
ega AR g8l
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